Ooogd 1go 54

11.1 0000
gogboboobogoobobodad

f(z) = figanzn (11.1)

000 »00000,a,(n=0,1,2,---)00000000. z=re? 00000
00

f(z) = i a,r" exp(ind)

n=0

godo. oogond
Z]anlr”
n=0

0000000 (11.)oboooooo.0ooooooooog.

(1) 000 ROODOOO.

D000 |2/ <ROOO (11.1)000000,|z/>RO000000000
0o,

(2) ROODOOOOOOOOO.

00000 |:|]<ROOO (1)0000000|z >RO00000000
0o.

(3) (1), (2)0 ROUODODDOODODUODDOOOORO ODOOOUOODDO.OODOOOO
gobbbooodgbbodd

20050 6 0 200 (D00O0O)



Ooogd 1go 55

11.2 000

0000 f(,) 00000000 f(,)000D00O00.0 z2=20000000
gobbbuoooobbbiuodibz=2 0000000000000

0000000000000 00D0000 (pole)DO0O0OODODOOOO. f(2) O
2=200000000000000.0f(2)0 2z=20 k00000000
gog
9(2)
= 11.2
1o - 2 (119
000 g(2)0 2=2 0000000000,k 0000000.000000
lim (z — 20)"f(2) = a (11.3)
z—20
000000000 f(»)0 2=2%20 k000000.000 0000000
goooooooo

() DoOoO0ooooooOoOo0oOo,000ooooooooo.

1 1 1

=% 1+2 (ii)) f(z) =tanhz  (iii) f(2) = -

(i) f(z) =

(2) f(2)0 2=20 0/00000000000. 0000 lim f(2) 0 2z — 2

zZ—20

ggbbobooogbbobbooooob,buoooobbbuooooboo

ooooooon
_sinz

f(z) =
gobobuoooobbooboooon

z

(3) 000000000 (113) 0000000 k0OO0OO00,0000000
gobboboooobbboogaoon.

7(2) = exp (2)

gobobobooooboboooonbon

20050 6 0 200 (D00O0O)



Ooogd 1go 56

11.3 000000gooon

00000000000 00000 (+£e0) 00D00O. O0OO0OOO0ODDOODOO
ggobobooaod.

Ow=f(z)=1/00000000000. f(2)0 z=00000000. 2
00000000 »0000000000000,w 000000000000
00000.00000 :0000000000000000,-.0000000
000000000 «»0000000000000000.

O000,w=1/0000 00000000000 wO0O0O0O0OO 10100
goob. g «w0bbbougoooobobbooooooobo. ™
U w0Oogg }:ii%l/zDDDDD 1godo,bouooobbbooodgn
g.gbbbooogbboboooobbbooooobooo.

0000000000000 00000000000O (0 11.1)0bob0.ooo
00000 300000000000000,0000000000 12000
gbd. 00000000 z0OOOOO 20000000000 0O0OO NOO
000000000000 ZO00O0O0OO0O. 00000000 2000 |2/<10
0000000000000, |2/l=10000000000, |z/>1000000
gboooboboobob. :00b0bb0boobob NDODOO 2=00
gooo.

0111 ggboood

() D0 Oo0oooOo, 000000000 ¢,n00,0000 00000
0000 ¢0ooo. (&n¢ 00000000 000ooooooooo
goo.

20050 6 0 200 (D00O0O)



Ooogd 1go 57

(2) 000000000000 NGO 00000 (2,9,00000000000
0 (&n¢)000000.

(3) 000000000 (¢,n¢ 0 200000 000000000000
gb,O0bbooboobobodgboobbodoboooboob,onon
gobbobuogoobbobuoooobobobooaod.

20050 6 0 200 (D00O0O)



Ooogd 1go 58

11.4 000000

00 f(z) 00 00000000 p00 CcO0O000000O0. 0000 C
0000 0000 f(z2)000,000000000 (9.1)00

]ff@)

2mi Jo ¢ — z

f(z) = ¢ (11.4)

O000000.00000000 f(»)0 2 0000000000000000O.
fr)oooOoOoOoOOOOO,00000000000000000O00000
00000000. f(,) 000000000000, 0000000000 DOO.
0000 f(2) 0 z2=20000000000000000000000O0O.

f2) = S Au(z— ) (115)
n=0
1
(1) »=¢0 CO0DO0D.0000O
1 Z— 20 zZ— 20 2 z—zo)
C_Z_C_ZO{1+C—ZO+<C—ZO> } Z: ¢ — zp)"H

gooooobobbiod. oogouoobbobbbodoooooooon
go.

(2) (11.4)0 (1) 000000000000OOO,

1 o0
271

f©)

f(z) = (Z—Zo>n£j<€_2,0)mdf

n=0

gooooogg.

(3) 00000000 (bboooooOD) (104) 00000000000 OO0O
ggboobogogo.

4) f(>) D0DCOODUODO0DDOOODOOOO0ODOOOOUODOOOOOOOOOO
goo.

20050 6 0 200 (D00O0O)



Ooogd 1go 59

11.5 000000

00 f(»)0 z=2000000000000000000000000O0O0OOCO
Ubz=cUODOOOOOOOOOOOOOOODO. O0bboobbodboo
0000 (Laurant) 00000000 OOOOO.

f(z) = i An(z = 20)" (11.6)

n=—oo

1 n

oooooboooooOooooooooooobooOo. oo A,DoDOoOo
go.

(1) f(z) 0 D000 R <|¢—2%| <R 000000000 (Ris€ R,0<
R1<R2). 01:{Z||Z—Zo|:Rl},022{2||Z—ZQ|ZR2}DDDDD

Ly Qg ),

o o (—z 2mi Jo, m— 2

f(z) =

goo.

(2 00000000

I 1 i(g—z())”
(—=z z—z20 =0 \Z— 20

1 i(z—z())n
n—=z MN—=20 ,—0\"— %0

gog.

(3) n00000000

1
m:,fW>M
2mi Jo (2 — )"t
goo0bOooOopoooooob ¢co ¢y0 c,00o0boobooooooon
goo.

0 (11.6) f(z) = Spl o An(z — 20)" + XX Az — 2)" 000000, 0000
0000000010000000,020000000000.A4.,00000
00000D0000000000. z=20 f(2)0 p00000000 n<—p
0 A, 000 00000000000000000. 2=2%000000000
000000000000,

20050 6 0 200 (D00O0O)



Ooogd 1go

60

11.6 00000000 (1)

gogbbobuogoobbboooooboboooabn.

z+42
O )
@) 5 =1

(3) cosz [z =m/4]

(4) sinhz [z = 7]

20050 6 0 200 (D00O0O)



Ooogd 1go 61

11.7 00000000 (2)

gogboobuooooboboogon.

1
(1) OO0 |z—il<20O 27D z=¢00000000.
z2 41

(2) OO

z—g’<7rD,tanzD »=r/200000000.

20050 6 0 200 (D00O0O)



Ooogd 1go 62

go: Doogoooobon

g osboougobobobogoobbboogo.bbooogbobbod
ggbbbooobbboooobo.

ggbbobuooooboboooooboo.

O00O0D 0000
> ay (11.7)
k=1

00000000,00000 00000000 NOOOOR>NOO

00000 n0000
<e (11.8)

n
Zak —
k=1

gobbo,dbbbbd «buogobbtb.gogbbbdoodobbo
goboboogoobbbooooboboboagd.

0000 OO0 (11.7)ooooooo0o,0000000000o0ooo0o00

o

> fa (11.9)

k=1
0000000,00 (1l.7)oooooooooo.

0000 00000000000000(@O0){f,(x)}0000000000
000000.000 {f,(z)} 0 f(zx)0000000,(11.8)000000
00000000000 NOOOO»>NOOOOOOO nO0O0O

[fulz) = flz)] <€ (11.10)

0000000000.000 e NOOOOD 200000 (11.10)000
0000,000 f,()0 f(x) 0000000000,

goboboboooobobogoo an(x)DDDDDDDDDD.
k=1

20050 6 0 200 (D00O0O)



Ooogd 1go 63

o1l gooboogod

00 {¢,}) 000000000000000,00000000000000 N
oooo,

| — an| <€ (n,m > N) (11.11)

gboboobgoobgno.

g

g

go,0bbobbbuodooooobbobbbuoooooob. bbb
ggbobuoooobboboooobobooooobon.

goboobboobobooobbooboooboobobooboboono
ggd. booboooboo ZanDDDDDDDDDDDDDDD,{an}D

k=1
n,m 000000000 §,,S,0000,0000000000000

0O NOOOD,
|S — Su| <& (m>n>N) (11.12)

gobboooooon.

000000000000.{e,}0 «00000000.00000000
0ONDOOOR>NOnO0OO ja,—a|<e/2000.000 n,m>N
0000

| — an]| = [(@m — ) + (@ —a,)| < |am —a] +|a—ay| <e/2+¢/2=¢

00000000, (1111)0o00o0oo0ooo00. 000 e=10000,
|am —a,| <1 (n,m > N).
goggobooooooouoooooon.
lay —a,| <1 (n>N).

0000 {¢,} 00000 {an>N}000 (0O0000O00O000)00
0.0000000000000000000000000000000,0
00000000,

oo0o00oOg (111y)yooo. N=N, 000
|am —an| <€/2 (n,m > Ny)
O0000.0000 {a,n >N} 00000 @, 000000
lay —al <e/2 (k> Ny)
gopoobD. 000 200000000 m>N, 0000
lam — ] <Oapy —ag| + oy —a| <e/24+¢/2=¢
goo.

20050 6 0 200 (D00O0O)



Ooogd 1go 64

g2 0oooboogood,oobobd

anby >0000. n>NOOO n000 @, 000006, 00000000.
DDDD}Z@DDDDDDDD X}MDDDDD DDE:%DDDDDD

n=1 n=1 n=1
00,3 5, 00000
n=1
00 oooboooooooooooooobo. ooooooooooooo, o
gooooo, oo otoouooouooo. ouoboououooo
ooooooogooon.

oooonD apb,>0,n>NOOO 0000 KOOO a, < Kb, OO
oooooboobooo.booboooobooobooo, yy oooboooboo
O YKy, OOOODODOOoooooooooooo.

00 00 Y6, 0000000000. 000000000000000000
00000000000.000 {e}00000000 (NO)OOOOO
000,000 n0000 a,<b, 0000000000.00000 {a,}
0 {»,} 0000 n00000000 s,,0,0000,

Sp < o,

DDD.JLIEOa:anDDDDDDD,DDDDUDDDD,

S, <o

gobooob.oodnD Ye, UODODDOOOODO.
goboboboooobobobooon.

20050 6 0 200 (D00O0O)



Ooogd 1go 65

g3 gubobbgoodg;,oobbod

gogbbobouoooobboogobo,ggobbboooobbbuooaon.

gogboboboooob ooob Ye, ODODOOOOODODO

lim "\/a, =r

n—0oo

ggooobod

(1) 0<r<100000.
2) 1<r<ocoOD0O0ODO.

b r<10000000. 0000 r<p<100 pbOob0b0O0g.oobon
nO000"/a, <p, 0000 a,<p"00000.00000000 n0O
gogobboobboooogoobboooog. Ypyrobob 1oboooo
00000000000.00000,[002)00000 Ye O00O00O0O.

r>10000000.000000000»0000"/a,>1,0000
e,>100000.000000 e, 00000 00000000000
000 (000000000000 (11.12)000000).

gobooboooobbon bobo Ye, DOOO0OO0ODOO

. Ap41
lim 2t

n—oo  q,

ggbooood

(1) 0<r<100000.
2) 1<r<ocoDDDDD.

U r<10000000.0000r<p<100 p0O0OO0O0O0O. 00000
nO0000 apyq1/a, < pOOOODO. OO0 n>NOOOOOOOOOO
oo,

Ap Gp-1 AN+ n—
ap, = : an < anp
Gp—1 An—2 an
000. 000 a, < (anyp™)p". 00000000 nO00000O0O0OO0
000000000000, py"0000000 [00200000 Ya,

goooo.

r>1000.000000000 n0000 apyq/a,>100000.00
OO0 NOOOOO n0O0 ap<app1 <apr <---00000 Ya,00
gobobuogoob.bbdod Ye, 0ooooo.

N

20050 6 0 200 (D00O0O)



Ooogd 1go 66

od4. 00oo

googoo,0boobgobd ebooboobo NOOOO n2>NOO
bbb 0000

<e (11.13)

n
Z lag| — a
k=1

gobooog,ob ZanDDDDD.

n=1

U0 oobooboboooobboooobbbuooob.bbuoogoboobboo
gobo,0bbdogobbooobboobobooobbooobbooobooo.
gogbboboooobbobbooo,bbobbouooobbboooobon
g, 0boggobobbooooooboooobbog.

00 Ya, 000000 Yle,| 0000000000000000000C
0.%a, 00000 Ye, 0000000 Ya, 0000000000,

OO0 n<mOOOO0OOOOOOO
|an+an+1+"‘+aYn| §|an‘+‘an+l‘+""am‘

gobbb.odd n=1000000000000. 0000

9] 9] o0
D an S |D an| <) an]
n=1 n=1 n=1

gogooo.ogoonb e, 0O0D0OO.

20050 6 0 200 (D00O0O)



